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Activity Book

Read: Activity 1

page 16 1. Look at question | together as a class. Explain to learners that in question 1 all
the answers are correct but they have to find the best answer. Ask learners:
a Was Helen Keller blind and deaf? (yes)
b Was she an author? (yes)
¢ Was she both blind and deaf and an author? (yes)
The best answer is ¢ because it has the most information.
Feedback
Elicit responses and check as a class.
Answers
1c;2¢;3b
Differentiation activities (Support):
1. For further support direct less able learners on a one to one basis to where the
information is in the text.
Activity Book Read and write: Activity 2
page 16 I. Learners read the biography about Helen Keller in the Learner’s Book Parts 24
again and decide if the sentences about the text are true or false. They correct the
false sentences. Learners check their answers in pairs.
Feedback
Monitor learners and assist where necessary. Elicit responses and check as a class.
Answers
1 true
2 false. Helen learned to speak when she was ten years old.
3 true
4 true
5 false. People could read her first book in 50 languages.
Activity Book Read: Activity 3
page 16 1. Learners complete sentences about the text with a number from the box. They

then order the sentences to reflect the order of events outlined in the text.
Feedback
Elicit responses and check as a class.

Answers

a20;b100;c7;d18;e 10;f12; g 30
Order: b; d; c; g; e; a; f




